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7. Yes; the parallelogram is a rhombus. 8. Possible; e ~ 2
opposite angles are congruent in a parallelogram. &QJ ow) ¥ e <o e O(
9. Impossible; if the diagonals are perpendicular, then the 40N Cﬂ el (“j Ce (ec:
parallelogram should be a rhombus, but the sides are not of i AUOC iy
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14a. 90;90;29;29 14b. 288 cm 15a. 70;90; 70; 70 _

15b. 88in2  16a. 38;90;90;38 16b. 260 m? s lefs ( Hieole s,

17. possible ~ 18. Impossible; because opposite angles are ‘

congruent and supplementary, for the figure to be a g_ka, / @l ’[/{_ﬁ' ‘
parallelogram they must measure 90, the figure therefore must jor b\( c;l'ﬂ_} ac(s

be a rectangle.
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